1 E e

k 5:8/Kpa s
R - a = LT - — T/P -V i 2
40 104.6 104.5 104.8 104.4 104.2 104.5 %0
20 183.1 1738 180.5 182.1 1815 180.2 % = 29,8410 5.7847
R?=0.9942
V0 7.6089828 ml | 70
60 s
2. e 50
K p/kpa 20 y=16.356x - 6.2396
t/celcius v/ml T 5 3 7 5 T . R = 0.9989
23.8 47.608983 104.6 104.5 104.5 104.6 104.5 104.5
32.6 27.608983 192.9 194.4 191.0 191.8 193.4 192.7 20
10
T1L__ [ 29695 | cl__ | 16.760542 ] [ Er 0.0381918 | 0
T2 | 30575 | c2 | 17.400657 | 1600 0.50 1.00 1.50 2.00 2.50
60mIEIER
v/ml p/kpa t/celcius T/K p (107-3) k/pa SOmIEIER
60 104.5 24.6 297.8 2.85 v/ml p/kpa t/celcius T/k p (107-3) k/pa
55 116.0 26.5 299.7 2.58 80 104.5 25.1 298.3 2.85
50 123.1 27.3 300.5 2.44 75 110.1 25.9 299.1 2.72
45 135.9 29.1 302.3 2.22 70 119.8 26.5 299.7 2.50
40 154.9 31.7 304.9 1.97 65 124.8 27.0 300.2 241
35 175.0 33.6 306.8 1.75 60 136.1 28.3 301.5 221
55 146.3 28.5 301.7 2.06
40mIBIRER 50 159.2 29.1 302.3 1.90
v/ml p/kpa t/celcius T/k p (107-3) k/pa 45 183.7 30.8 304.0 1.65
40 104.5 24.1 297.3 2.84
35 1193 26.2 299.4 2.51 =SHARRLL
30 1375 28.6 3018 2.19 RE 1 T 2 3 1 | 5 ]
25 159.2 31.8 305.0 1.92 JEHA/s 30.03 | 3004 3003 | 3004 | 3004 | 3004
20 190.3 34.1 307.3 1.61 i 2680 cm”3
m 111g gamma 1.3503056
d 14 mm Er 0.0368719
pO 101000 pa
p 101706.6479
gamma0 1.402




